
This is how table looks like if no height property is set

RETIREMENT PLANNING: BECAUSE 
YOU CAN’T BE A FINANCIAL 
PLANNER FOREVER.

Row Height: Natural

Here we set value from pre layout as height. We expect that this table shall be equal to the previous one

RETIREMENT PLANNING: BECAUSE 
YOU CAN’T BE A FINANCIAL 
PLANNER FOREVER.

Row Height: Calculated 96

Here we set 100 as height. We expect that this will be enough to place 3 lines

RETIREMENT PLANNING: BECAUSE 
***SOME TEST TEXT IS PLACED*** 
YOU CAN’T BE A FINANCIAL 

Row Height: Explicit 100

Here we set value from pre layout minus 0.5f as height. We expect that this table shall not be equal to the 

previous one

RETIREMENT PLANNING: BECAUSE 
YOU CAN’T BE A FINANCIAL 

Row Height: Calculated 95.5


